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Unit 3.4 Bell Work:

1. Decide whether the following is a function.
(-1.-5) (12) G4 (@)
NO
What is the domain? The range?
D: {1 )3%
R: %"7/ -5, g'q%
2. fix)=16 -7x Find f(-5)

OB RIS gt v
f¢5)= 9

The SLOPE of a non vertical line 1s:

Ay Rise Yoo )
_ = m I ———
AR Run X2 X
Find the slope of the given points.
4.6 @4,-1 (4.5) (6,-7)
M= (*+| = 1 - uwndefined mzﬂ'—’)—g:’ﬁ’_
Y-y o -4-, 0 5
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Rate of Change:
Miles per hour, degrees per day

he  §
(2,12) and (5,30) x is measure in

hours and y is measured in dollars.

What is the rate of change?

m ] ‘3_30 — _l%

-~

\nour 3§ = = (od:\\\:\rs

Classify lines by their slope:

N
/ \ ]

.\9“'&

Positive slope Negative slope Zero Slope Undefined slope

\V
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Without graphing: Describe the
line through the 2 points.

(-5! 1) & (3, ;!) = horizontal

('6, O) & (2, -4) = Slaﬂ+e6| &'\L
(4, 6) & (4, -1) = Verhical
i A

Parallel Lines

Have the EXACT SAME slope.
m, = 1m,

Line 1: (-3, 2) and (5, 0) m= 5=~ == 7

Line 2: (-1, -4) and (0, 4)m;: .

m, £m, % i

-4-4 --g )
-0 =~
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Perpendicular Lines
Have OPPOSITE RECIPROCAL

slopes m; = - 1 =4 L=k
m2 m‘:-% Lm=2

_ = undef
MI—O _l_vV\Z\A 4

Line 1: (3, -1) and (6, -4) m - -131y _ 3 _
Line 2: (-4, 5) and (-2, 7) 3, 3
- M 51 s
ML -3
Standard form
AxEBy=C X Y
/[\
(+)
Finding intercepts 0 1=
2X + 6y = 12 b 0
y—.\f\*ercc_v-\- /\(:O \I—I-‘\‘\'effq)-\-/x:o
Y - Q\CO\H- (03=\l
X;iio\z ; by= 12 (oY)
X:Q’ . B"'\—A
X-ntercept - §-wntercept (X,0)

((0303 (0)\2'\
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Find the x and y intercepts for the given line.

5x +14y = 10
)(— W\{" %_\h-\-:
Sx+14(0)= 10 5(0)4 14y=10
5% =10 |
Y=1 Hu=10
lO 5
(2,0) Y
CO)B/—I\
+* Memorizey

Equation for a horizontal line
y = #

Equation for a vertical line

X =#

July 27, 2020
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Writing equations of lines

Given the slope and a point:

Point Slope Form:
Y- Yi=mX - X))y (o)
ry, |
Use idea @msformations instead. f@"’«
y=m(x-x,)+y, o y=mx-+bx
Y= m(X bR

Know these
y=a(x-h)+k /

y=a|x-h|+k \Vi
y=a(x-h)+k U
y=aVx-h+k o

y=ai{x-h+k J
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Write the equation of a line with a slope m = 1/4, and
passing through (-2, 3)¢— aT
h K

Write and graph an equation of the line that passes
through the given point (-4, 6) and parallel to the

liney=2x+4 b1 ST 'WQW‘
Qrne 2 Sm =2

Y=2(x++4)+ 6 i //
kj=3\(x+L\3L+(§ /




HM2 3.4 graphing lines with transformations.notebook July 27, 2020

Write and graph an equation of the line that passes
through the given point (-4, 6) and perpendicular to
the line y=2x+4 e " © N 4]

L lad

ot 23 Lmn="5

U="5 () +6 Y H

Write and graph an equation of the line that
passes through the given points. (-5, -2) (-3, 8)

U Sx43) 4t 3¢
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Write an equation of the line that passes through
(1,4) and 1s:

,\‘\ T hor T -

a) parallel toy = -2 -

\Lﬁ:‘-’ R L
b) perpendiculartoy =-2 .

X=]

c) parallel to x = -2 |

X=1 |

d) perpendicular to x = -2

y=L|

17. Graph and write the equation of the line through the

points (-4,-1) and (2,3). || m=% Lm==

What is the domaim; range and x and y intercepts of the line?
m:_|-3 = ‘L' _ D’IE
BT
¢ RR
& h K Y-k Y—\'n{':
Y=a (x-hYek  0°Z )| 3060

il
L O8)l=27aflc+d) u=2
- -

3
=2 (w13 Kk X=r4i _
¥3 (-a.s,o% (05t ¢

Write the equation of the lines that are parallel and

perperglic lar to the above equation that goes through the
point (8, -2). Graph the 2 lines.

U=a (- HiC
?am\\e\ \j: %(X—%\'& A
Mpmdicu\qr \A: "% X—%\-gﬁ(
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